Document: MB. 33 Edition: 09 Page: 1-2

Drawn: PIBL Art.nr: 700745 Date: 2024-08-27

Verktyg som behdvs fér montering. Ingdr inte.
Tools needed for assembling. Not included.
Werkzeuge fur die Montage sind nicht Teil des Lieferumfanges.

Junior-4 @

) @ 13mm
M8x120 (x16) M8x70 (x4) 8x100 (x4)
= a4 ~\\@

e & @ @ i w— = O
(x8)

9x22 (x8)  9x28 (x16) M8 (x4) M8 (x16) 5x25(x8) 5x45(x8)  16x40 (x8) (x8) T40 T20-N4

Monteringsanvisning / Assembly Instructions / Aufbauanleitung

o

M8x120
9x28 (x16)

|

DETAIL B

DETAIL A



Drawn: PIBL Art.nr: 700745 Date: 2024-08-27 Document: MB. 33 Edition: 09 Page: 2-2

DETAIL D

DETAIL F

M8x70 (x4)
9x22 (x8)
M8 (x4)

SJOBERGS WORKBENCHES AB

SE-576 95 Stockaryd Sweden YEAR WARRANTY
Tel +46 (0)382-25700 o
office@sjobergs.se sjobergs.se = o




